2375 0.25
0.87 0.87 “ "
—{0.89 2.01 113 2.08 1.90 2.00 2.01 2.00 1.90 2.08 113 2.01 0.89 [—
- —fosot— |
)
2
2.000 O O Q) O O O O O o OO0 )
1.00 g
i %
\—0.396 \—0.396><0.697 ATB.02
; 24,000
20375 SR38-24
‘ =—2.00—
/(7 2272777, 227777777777 227777 277 Z 7%
0.188—, — 1.00 |—
2188 ] 2.000 i ’ 219
7 1.00
Y t
18.38
0.19— 18.00 —0.19 i:g.gs 2,00 —-]
——150—|—125—|‘125—|-1as—|-125~|-125—|-1as—|—1as—|-125~|‘125—|—1as~|—125—|—125—|-—150—— 177 A V7
@ 1.00 ! [——r1.00
4 O 4 Ig4 219 PR
1.54
1O JOLIOII Ok ol i
067
f oo 4se —219—] \ 60375
ATK—U RUNG ol. 250
20.625 ATK—ANGLE
insiss - JJ \ PARTS LIST
b ITEM| QTY | PART NO. PART_DESCRIPTION
1 | 2 | ATB.O2 VERTICAL SUPPORT BAR
Ty ﬂ |/ \| |' \| 2 | 2 | SR38-24 3/8” x 24" STAINLESS ALL THREAD ROD
3 | 3 | ATK=U RUNG | RUNG FOR ATK—U — 18" LONG
ﬂ — — 4 | 4 | ATK=ANGLE SMALL SUPPORT ANGLE FOR ATK
Ao fo — — 5 | 4 | RI38 3/8” RED INSULATOR
| | | 6 | 4 | MBBB—G MOUNTING BRACKET FOR BUSS BAR W/ 7/16" HOLES
o o 1 ] { ] 7 | 4 | 38-585SB 3/8" x 5/8" STAINLESS STEEL BOLT
8 | 8 | 38—114SSB 3/8" x 1—1/4" STAINLESS STEEL BOLT
9 | 24| 38—SSLW 3/8" STAINLESS STEEL LOCK WASHER
HARDWARE MBBB—G RI38
HRSLSAARe e— 10 | 20| 38—SSN 3/8” STAINLESS STEEL NUT
A P P l:\) O \/E D THIS DOCUMENT AND THE CONTENTS ATK-U
THEREDF IS THE PROPERTY OF IZZY
INDUSTRIES AND IS FURNISHED TO
[]AS DRAWN: YOU FOR INFORMATION DNLY. THE IRAMN BY: | REVISION:
INFORMATION CONTAINED HEREIN IS NMB ;ﬁ”" -
, CONFIDENTIAL AND OF A PROPRIETARY &
[] AS NOTED: NATURE AND MUST NOT BE DISCLOSED [LET REVISION SATE By | CHECKED BY: F ZIH SCALE:
TO THIRD PARTIES WITHOUT WRITTEN -
TOLERANCES UNLESS NOTED INDUSTRIES
DATE: APPROVAL. OF JZ2ZY INDUSTRIES. FRACTIONAL * 1/16 DATE: 701 Riverwood Drive SHEET:
.00 + 030 11 11 15 Pembroke, NH 03275 -
.000 + 010 925.344.5970




